+5V

St 2
4 1 ° 1
3 2 2
LEFT RIGHT
UL
=4 PBO(PCINT@/CLKO/ICP1)
=151 PBI(PCINT1/0C1A) Vee 7o
=% PB2(PCINT2/55/0C1B)
U2 =2] PB3(PCINT3/0C2A/MOSI) AVee 22
o8] PB4(PCINT4/MISO)
=2 PB5(SCK/PCINT5)
8l Vee spA [¢ &—2] PB6(PCINT6/XTAL1/TOSC1) PD@(RXD/PCINT16) | 2—a
1 GND ScL [® =18 PB7(PCINT7/XTAL2/TOSC2) PD1(TXD/PCINT17)j—B
PD2(INT@/PCINT18)
$5D1306_12C 23| PCA(ADCO/PCINTS) PD3(PCINT19/0C2B/INT1) [
=24 PC1(ADC1/PCINT9) PD4(PCINT20/XCK/T0) [
PC2(ADC2/PCINT18) PD5(PCINT21/0C@B/T1) 1= LSt
PC3(ADC3/PCINTT1) PD6(PCINT22/0C0OA/ANG) 2o
PC4(ADC4/SDA/PCINT12) PD7(PCINT23/AN1) [3-& 2
8] PC5(ADC5/SCL/PCINT13) !
&—1 PCB(RESET/PCINT14) GND [8
GND |22
=2 AREF
o—
ATTINYS5 G-



